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GENERAL MATHEMATICS SSC1
SECTION — A (Markp 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are #0 be answered on the question paper itseif.
It shouid be completed In the first 20 minutes and banded over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead penell.

Q.1 Circie the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) 5% in terms of percentage is;
A 35% B. 35 C. 20 D. 20%
(i) In proportion a:b::c:d, aand d are called:
A Extremes B. Means C. Antecedents D. Consequents
(i) The share of a widow in inherited property in absence of children is:
A - B - c. 1 0.+
8 4 3 2
(iv) If Spis greater than Cp , then Sp will be:
0,
A Profit-Cp B. (Mé) xCp
100
0,
C. Cp —loss D. Cpxloss%
100
] The amount which is paid by the bank on the deposits is called:
A Profit B. Bonus C. Premium D. Markup
(vi) Taxes in the form of duties, motor vehicles taxes are called:
A Indirect tax B. Direct tax C. Property tax D. Income tax
i) V2 =2
A 2 B. 2 C. 2 D. 2
(viiy  In a", n is called:
A Radical B. Radicand C. Exponent D. Base
(x)  AM between /3 and 3v3 is:
A pNE] B. 5\3 c. 93 D. 43
(x) Third term of a, =n+ 3is:
A. 3 B. 6 C. 9 D. 0
(xi) If U=1{1,2,3,4}, A=1{4}then A°isequalto:
A {,2,3} B. ¢ o} {1} D. {1,2,3,4}
(xii) For y=2in 2x+ y=6, we have x=7
A 4 B. —4 C. 2 D. —2
(xii)  The co-ordinates of origin are:
A (0,0) B. 0,0 C. (LD D (1,0)
= ¥wx.
(xiv) Xw= is called:
| >w
A Arithmetic mean B. Weighted Mean
| c Geometric Mean D. Mean
| (xv) The middle values of data arranged in numerical order is called: '
A Mode B. Mean C. Median D. Geometric Mean
)
For Examiner's use only:
I Totai Marks: 15
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GENERAL MATHEMATICS SSC-|

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any Pewr questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer gheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table and Graph Paper will b provided on demand.

ECTION -
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

(i) A table costs a carpenter Rs.720 to make. He sells it for Rs.920. What percentage of profit did he earn?

(i) Express in its simplest form :—3—:2

(iii) Calculate Zakat on gold amount Rs.15,00,000.

(iv) Find the selling price when Mp=Rs.2760, Discount = 5%

v) Convert 5000 Riyals into Pak rupees.

(wi) What sum would borrow in Rs. 174 as markup at 8% in 4 years.

(vi)  The price of a bicycle is Rs.3500. if 16% sales tax is charged. Then calculate the amount of sale tax on
50 such bicycles.

(vii)  Simplify (x*y* )% x (y3x4)%

(ix) Write in scientific notation 0.00000075

(x) Which term ofan AP 5,2,-1,...,is -1187?

(xi) Insert four geometric means between 3 and 96.

(xii) If 4={1,2,3,4,5,6}, B={2,3,4,6}and C={2,3,4,7,8,9}. Verify that. (4nB)nNC=4AN(BNC)
(xii)  Draw a graphof y=3x

(xiv)  Find mean, median and mode for the set of the values 4,6,7,4,89.7,10

(xv) Evaluate 2log5 + iog8 % log4
(xvi)  If the A.M between ‘a’ and 10 is 40, the find the value of ‘a’.
{xvi()  Find the cost price, if a fan is sold for Rs.1470 , to get a profit %th of its cost price.

(xviii) If a deceased left a property of worth Rs.15,00,000 , workout the property, if he left behind a widow.
SECTION — C (Marks 2}

Note: Attempt any FOUR questions. All questions carey equal marks. (4 x 6 = 24)

Q.3 Rs.4000 are sufficient for a family of 4 members for 40 days. For how many days Rs.15,000 will be sufficient for
a family of 5 members?

Q.4 A shopkeeper gains a profit of 8% by selling a washing machines for Rs.12000. If he sells it for 10,500 then find
the loss percentage.

Q.5 Raheel insured his house worth Rs.75,00,000 @2% of 5 years. Calculate the amount paid in 5 years while the

rate of depreciation is 10 % yearly.
Q.6 If gross pay of a person is Rs.45,000, then calculate his net take home salary after deductions of Rs.400 as
income tax, Rs.1200 as benevolent fund, Rs.1500 as G.P fund and Rs.400 as group insurance.
(25.36)* x (0.4569)
847.5

Q.8 Draw a histogram to represent the frequency table.

]Weekly Eamings | 0-9 | 10-19 | 20-29 | 30-39 | 4049 | 50-59
rFrequency 45 10 1 21 10 3

Q.7  Using logarithmic table, evaiuate
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